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(Que: 16 -30) GsX-¶nepw 10 FÆ-Øn\v DØ-c-sa-gp-XpI.

16. BZysØ ⁄m\-]oTw Ahm¿Uv t\Snb IrXn

a) Ib¿ (X-I-gn) b) HmS°pg¬ (Pn. i¶-c-°p-dp-∏v)

c) Dam-tI-cfw (D-≈q¿) d)  Hcp tZi-Øns‚ IY (F-kv.sI s]ms‰-°m-Sv)

17. “at\m-l-c-amb \rØw I≠v Bfp-Iƒ aXn-a-d-∂p-\n-∂p.” F∂-Xp-sIm≠v F¥mWv A¿∞-am-°p-∂Xv?
a) kabw ad-∂p-t]mbn b) ]c-kv]cw t\m°n-\n∂p

c) ÿew ad-∂p-t]mbn d) \rØ-`w-Kn-bn¬ ebn-®p-\n∂p

18. kn\n-a-bpsS kmln-Xy-cq-]-Øn\v ]d-bp∂ t]sc-¥mWv?
a) Xnc-°Y b) B´-°Y c) \mSIw d) Im¿´q¨

19. ssh°w apl-ΩZv _jo-dn-t‚-X-√mØ IYm-]m{X tPmUn GXv?

a) Al-Ω-ZvIp-´n-˛-am-b≥ b) A_vZpƒJm-Z¿˛ap-l-ΩZv

c) dmjn-Zv-˛-hr-≤≥ d) sFjvIp-´n-˛-B-kymΩ

20. Hcp I¿ΩWn {]tbm-K-amWv...................

a)  hnZym¿∞n ]Tn-°p-∂p. b) cma≥ ]ip-hns\ ASn®p

c) am≥ thS-\m¬ sIm√-s∏´p d) chn t]\-sIm≠v FgpXn

21. ‘kXym-{Klw’ hn{K-ln-°p-tºmƒ

a) kXy-tØm-Sp≈ B{Klw b) kXy-Øn-e-[n-jvTn-X-amb {Klw

c) kXy-Øns‚ {Klw d) Ak-Xy-tØm-Sp≈ {Klw

22. sXøw F∂ Ie-bp-ambn _‘-an-√mØ {]kvXm-h\ GXmWv?

a) DØ-c-tI-c-f-Ønse {]kn-≤-amb \mS≥ Ie-bmWv sXøw.

b) sXøw Ie-bpsS kmln-Xy-cq-]-amWv tXm‰w.

c) tÃPn¬ \mSIw t]mse Ah-X-cn∏n°p∂ Ie-bmWv sXøw.

d) sXøw Ie-bn¬ sN≠ {][m\ hmZyam-Wv.

23. Xmsg \¬In-bn-cn-°p-∂-h-bn¬ H.F≥.hn. Ipdp-∏n-t‚-X-√mØ IrXn GXv?

a) Aº-e-aWn b) shdpsX c) `qan°v Hcp Nc-a-KoXw     d) tXm∂ym-£-c-ßƒ

24. \n»-_vZ-ambn F∂ ]Zw ]ncn-s®-gp-Xn-bm¬.

a) \n»_vZw + ambn b) \n»_vZ + Bbn c) \n»_vZw + Bbn    d) \n» + _vZambn

25. ‘{]Xn-\n-[n-bpsS km∂n[yw’ F∂ {]tbm-K-Øns‚ H‰-∏Zw Fgp-XpI?

a) {]mXn\n[yw   b) {]m[m\yw c) {]Xn-\n[n   d) {]KXv`≥

26. emLhw F∂ ]Z-Øns‚ FXn¿]Zw?

a) ITn\w b) Kuchw c) ZpjvIcw d) Akm[yw

Xmsg sImSp-Øn-cn-°p∂ ]Zy-`mKw hmbn®v tNmZy-ßƒ°v DØcw sXc-s™-Sp-sØ-gp-XpI

Adn-bmsX P\-\nsb ]cn-W-bn-t®mcp
bh\ Xcp-Ws‚ IY-sb{X ]gIn
]pXnb IY-sb-gp-Xp∂p hkp-[-bpsS a°-fn-h¿
hkp-[-bpsS hkv{X-ap-cn-bp∂p
hn]-Wn-I-fn-eh hn‰p tam¥p∂p
hnS \Kc agp ap\-Iƒ tIfn XpS-cp∂p
IØp∂ kqcys‚ IÆp-I-fn¬ \n∂·n
h¿jn®p tcmj-ap-W-cp∂p

USS MODEL EXAM  2O19-20

KSTU KONDOTTY SUB DISTRICT
PAPER - I

PART - B   MALAYALAM  II  (BT)
(English Medium)



2

BSn apIn¬ ame IpSn-\o¿ Xnc-bp∂p
B Xn-c-Iƒ Ipfncp Xnc-bp∂p
Bh-Wn-I-sfmcp Ip™p ]qhp Xnc-bp∂p
Bdp-I-sfm-gp°p Xnc-bp∂p
k¿K-e-b-Xm-f-ßƒ sX‰p∂p ˛ Poh-cY
N{I-ßƒ Nmen-ep-d-bp∂p

27. CXv GXp-I-hn-X-bpsS `mK-amWv?

a) ̀ qan b) kqcy-KoXw     c) kvt\l-sa∂ `mcw d) `qan-bvs°mcp Nc-a-KoXw

28. ta¬ kqNn-∏n® Ihn-X-bn¬ sImSpw NqSns\ Ipdn-°p∂ hcn-tb-XmWv?
a) Bdp-Iƒ Hgp°v Xnc-bp∂p
b) IØp∂ kqcys‚ IÆp-I-fn¬ \n∂·n h¿jn®p tcmj-ap-W-cp∂p
c) Bh-Wn-Iƒ Ip™p-]qhp Xnc-bp∂p
d) N{I-ßƒ Nmen-ep-d-bp∂p

29. Bdp-Iƒ Hgp°v Xnc-bp∂p F∂ kqN\ Ipdn-°p-∂-sX¥v?
a) Bdn¬ ao≥ D≠v b) Pe-£maw c) Pe-k-ar≤n       d) \Zn-bn¬ Hgp-°p-≠m-Ip∂p

30. GXp hn]-Øn-s\-°p-dn-®mWv Ihn ]mSp-∂Xv?
a) h\ \io-I-cWw
b) bh\ Xcp-Ws‚ P\-\nsb ]cn-W-bn-®-Xn-s\-°p-dn®v
c) kqcym-LmXw
d) ̀ qan-bn¬ aÆv am¥nbpw ae-I-fn-Sn®pw ImSv \in-∏n®pw a\p-jy-\p-≠m°n sh°p∂ hn]-Øn-s\-°p-dn®v

PAPER - I

PART - C    MATHEMATICS

(Que: 31 -50) Answer all Questions.

31. Find the last digit (unit digit) of 72020 ?

a) 7      b) 1        c) 3         d) 9

32. Which of the following is a perfect square?

a) 26 x 36 x 54 x 43 b) 53 x 43 x 33 x 23

c) 43 x 35 x 53 x 26 d) 37 x 52 x 25 x 44

33. Ravi has Rs. 500. When he gives Rs 125 to his sister and Rs. 150/- to his brother which one is the correct

form.

a) 500 (125 - 150) b) 500 + (125 + 150) c) 500 - (125 + 150) d) 500 - 150 - 125

34. Suppose the volume of a cube is 216 qubic. Find the length of one side?

a) 8 cm b) 3 cm c) 6 cm d) 16 cm

35. Find the value of  20 x 30 x 40 x 50

A) 1 B) 6 C) 3 D) 5

36. An athlete ran 400 m in 40 seconds in the school meet. This speed is same as how many kilometers - per

hour?

a) 36 km b) 160 km c) 144 km d) 53 km

37. If we make a right triangle in a circle center, how many degrees are they?

a) 600 b) 450 c) 900 d) 1200

38. What is the compound interest on Rs. 10000 at 10% for 2 years?

a) 2000 b) 2100 b) 2200 d) 1100
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39. There are many birds and rabbits in a cage. When one counted their heads he got 50 and legs 180. Then

how many birds are there

a)10 b) 12 c) 20 d) 25

40. The area of the shaded region?

a) 30 s.cm

b) 25 s.cm

c) 50 s.cm

d) 20 s.cm

41. How much is 123452 - 123412

a) 12345 x 12341 b) 24686 x 12341 c) 12345 x 4 d) 24686 x 4

42. In the annual exam Ramu got 120 marks out of 600. Then find Ramu’s percentage of marks?

a) 10% b) 20% c) 30% d) 60%

43. Average age of 25 students in a school is 14. When a new student joined the students average age is 14.5.

Then what is the age of newly joined student.

a) 14.5 b) 26 c) 27 d) 28

44. A clock time shows 10.10. If so what time is it in the mirror in front of the clock?

a) 1.30 b) 2 c) 1.50 d) 8.50

45. After walking 6 km north of Ravi’s house he turned left and walked about 8 km. So in what direction he

drove away from home and how far?

a) 14 km  south - west b) 10 km  north - west c) 10 km  east d) 10 km  south - east

46. 280 persons participated in a function. 80% are girls. If so how many number of girls participated?

a) 364 b) 215 c) 224 d) 310

47. Two taps can fill a tank in 6 hours and 4 hours respectively. If both taps are opened together,  how many hours

will it take to fill the tank?

a) 5 hours b) 4  hours c) 2½  hours d) 3½  hours

48. A train runs 50 minutes at 48 km/h speed. The speed at which the train must run to reduce the time of journey

to 40 minutes will be :

a) 50 km/h b) 60 km/h c) 56 km/h d) 88 km/h

49. Which of the following is equal to a + b - c ?

a) a - (b-c) b) a + (c-b) c) a - (b + c) d) a - (c - b)

50. Which of the following is the algebraic expression (General form) of a two digit number?

a) x + y b) x + 10y c) xy d) 10x + y


